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4o o Python #25% > 7% 5 #® 2 (254 )
rNum2iNum(originalNum):
baseNum = {"I": 1, "V":5, *X":10, "L":50, "C":100, "D":500, "M":1000}
resultNum = 0
originalNum = originalNum.upper()
try:
for 1 in range(len(originalNum)):
if 1 >0 and baseNum[originalNum[i]] > baseNum[originalNum[i - 1]]:
resultNum += (baseNum[originalNum[i]] — 2 * baseNum[originalNum[i - 1]])
else:
resultNum += baseNum[originalNum[i]]
return resultNum
except: return "Not A Legal Number!!™

__hame__ =="_main__
#-- Call rNum2iNum
sl = "MMMCMLXXVI"™
s2 = "mCdLxIv"
s3 = "CCCZII"
s4 = "JVXLCDM"

print ("{0:10} --> {1}".format(sl, rNum2iNum(sl)))
print ("{0:10} --> {1}".format(s2, rNum2iNum(s2)))
print ("{0:10} --> {1}".format(s3, rNum2iNum(s3)))
print ("{0:10} --> {1}".format(s4, rNum2iNum(s4)))
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( 0 if n<1

Seq(n)=-1+@1/2)-3+3/4)-5+---=1 Seq(n—1)+n—_l if niseven
n

Seq(n—-1)—n if nisodd
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def PQLl(num):
resultNum=0;
original=num;

num = abs(num);
while(num>0):
re = num%10;
num=num//10;
resultNum = resultNum+(rr*rr*rr);
if(abs(original) == resultNum):
print("{} Hit {} " _format(original, original));
else:
print("{} Not Hit {} !!"_format(original, resultNum));



